11 24




< O
—I AN M O A -



N N N
] ,m N BET "/
T mmm/ \/.
REBIER A | = |u).f.,1.:,.h ghis

N ',j B =W " A - i
— " // faim—" | Elﬂgﬂ

@ ,_,.,/' L i‘%ib% PR

’ < BB




1,000

10,000

5,000f
i, 2 e, F 50000 @ = ﬁ

|:‘. I | . :f:% % g - | : .._.:l. 0 0 ‘ ‘ ‘
9o A Wi {_/-. H18 Ho H12 H15 H18

" fi i i . ey
= nllm
" ] 1] O O ‘
AT F
2 ~
~ W W ke 1 {=C M
- T W
- 7 “-*-..J...ﬁ"'-'-_-l-.....-"'r\- -
- | \ b\ e N\

= (B
ST A [ S
= 3 ~

/ s
/1% o)

b
H




ha m

H16

H7 | H8 | H9 |H10|H11|H12|H13|H14 [H15|H16 [H17 [H18 |H19 |H20 | H21 | H22 | H23 | H24 | H25

————
———

——— | —

——

—— —

H #I+.+I+I#I|II|II|I#.4I+I+IPI|II

/% — 3 ¥ WBS — L5
.-»-"'"/ N ‘- I - |ij,|||.'i|

F L g 4 /
/ - Mllith [ {". “ Y,
FIARE 0] @ L] £ 0 oo
j ' ~ 15004 2% ""‘% \ :
R F g { l-’ >28 A ———
3 @.‘ — 0 Bl k5 iy y
\ ) -1 27 | f

T # -E-I_|f] A -~
@ #E ,-—--""J !I

il - f'# 55 F 3 C A




12

13




—
5555




CWM,

TCM

50

10%

50




km

()
WTP > >
(%) 100 [
x
10 120 50
50 600
0
2000 24000 Fra—Y e ()
/ /




km

120

10

CVM
WTP>=< =<
110 > >
210 o O
3]2000 x< <
412000 o o
511000 > ><
611000 o o
71500 > >
81500 o o
91300 =< o
10{300 O =<
11]100 > O
121100 o <
13]50 > o
14150 o >
15110 > O
16110 O >




1km

5000

1000

1km 143 78.7

km 48 204.7 867
5km 80 279.4
1km 350 78.7

km 117 204.7 2,126
5km 196 279.4




CVM

TCM

(3,000

30

10




“EEERESS PERRNAIS i BOHBENTH

11



WTP

1,500

400

WTP

km
1,500

12




69.5 45.5
13.8 10.7
83.2 56.2
340.6 286.1

13



21

4.1 340.6 83.2

14




15



